1,2,3,4 o] &=27F 242 A3 4] o] 1= 59 s FHYA A
3 A0] 7IEE Bot Al ztE] A4S WE o, 2F2 ZHEH 37|02
17 9 Yox =9

® 321 @ 324 @341 @ 342 ® 412

B
o] Aalo] 1 o] & o] A9e] 4 3x2 =6 (714])
o] Aalo] 2 7} & we] A9-0] 4 3x2 = 6 (714])
uje] alo] 3 o] & we] F9-0] 4= 3x2 = 6 (714])
whabA] 2R AE F7]20 2 17 WA 1o 2l w0 zja)7}
39 4 % = WA 2 47} B 341




o= %7 h21o14] N Bl A Hof gt ) 7] Zake 15 1 10 %
5 SAck. N 93t A Hol 4718 3 714 N Ho] 2 o] 5HE-L

®

®

ol

@

=~ w

®

=S
©l

@

O w

<1O 10 5) 4
IX| —=X—X— | ==
15 15 15 9




o3t A5 Abgro] U} SHE-S

1 9

1
2
L

i)
N
,
>,
ofl
flo
N
N}
o
X
1%
il

717

O B A 1370, AT A 217
@ B AT 140, AT A 187
® W A 1370, AT A 217
@) AV 1), AT A 217

® W A 1370, AT A 187

oletd ot %o B

7+);+y :%, 3x=7+x+y
2x—y=T7---Q

Y 2y=T+x+y
T+x+y 2
xty=7--©




S8 7 Ao A9 B hE SAG] 9 o), 51| 5w} 49l
#2=0] o] 9 7L £ A 0] oh 1} Z2A19] 0] 2.0] H|2=0] o] L2
3829

3 1 5 5 .
lxl+lx1—l
27272727 2




I

SEEO

VA B, CAHl ARgo] FAlol 1 719

31
35

®

27
35

@

0 |-

<t b~

oI~

olJ
Tor

oW

K

fife)

ol
il

Hr
1]

Al Abo] B

5
7




thg-e 27417 ABC o4 AB $19] /B = /BCD 7} 2 A D
2 zro® AD = BD = OD 9 $9sl= #Aolt. Hlzho] gre
AL AR A B ALY
A
D
B Nc

/B=/BCD°|EZ ABCD &=[ ot}

wheb BD =[] oltt.

A7ZF ABC oA ZA + /B 4 90° = 180° o] 2 &

/A =90° — /B ©o|t}.

/ACD +[ ] = /ABC 914 LACB 7} 90° o2&
LACD = 90° - /BCD ©|t}.

a#Y B =/BCDolRE A=[  ]oJth
wtebA] AACD & ©]5RI4IZHg o] B2 AD = CD ©th.

“BD-[ |- AD ot}

@ ol5WAZtd, AD, /BCD, /BCD , BC
@)o]5¥424, CD, /BCD, /ACD , CD
® o|5¥H4Zrd, AD, /ACD, /ACD , AC
@ 27442+, CD, /ACD, /BCD, AC
®

A ZW47vs AD , /BCD , /ACD , BC

/B = /BCD ©]B=2 ABCD & o|sHdZgo|tt. uwatA
BD = CD o]t}

A2+ ABC oA ZA + /B +90° = 180° ]2 /A = 90° - /B
ojrt.

L/ACD + /BCD = /ACB 9|4 /ACB 7} 90° °|2& /ACD =
90° — /BCD o]t}

44 /B = /BCD °|B2=2 /A = /ACD o]t} wakA AACD
£ ol5H4Ztgo|n2 AD = CD o|th.

~.BD = CD = AD °|t}.




Zolza ™A & 01 AC 9 ZHo]|1, nABCD,00CDE =
D= gaxEgoltt, AB = 4cm,BC = 6cm 2 o, AF + OF 9]
Aol & Fotofet,

@ 4cm @ 5cm @ 6cm @ T7cm ® 8cm




AB//DC, AB = BC, ACLBD

@ AdeElE

o
N

&

@ A




9. the 1Y ZHe AABCO|A AF : FC=1:3,BE:EC =1: 3,
AD : D 1

AD : DE = 1 : 1°|t}. AABC9] ¥ o|7} 64cm? & o, AADF 9]
ol
A
B E C
@ 6cm? @ 8cm? ® 16cm?
@ 32cm? ® 35cm?2

~&B ~

AABE : AACE = 1: 30|82

AACE = ZAABC = Z X 64 = 48(cm?)

CDE 11°9W ACAD : ACED = 1: 10]E=2
ACAD = %AACE = % x 48 = 24(cm?)
I, AADF : ACDF = 1: 30|22

AADF = iACAD = le X 24 = 6(cm?)




10. & 18O AABC oA AC:DC=9:4 A
olt;y, AB//DE ©]1 AABE = 45cm? ¥
mj, ADEC 9] Yo|& +5}H?

os)
=
Q

)16 cm? @ 18cm? ® 20cm?

@ 22cm? ® 24cm?

B ~

AC:DC=9:4
AD:DC=5:4

AAEC = ZgLAABE =36 (cm2)

ADEC = gAAEC =16 (cm?)




11.

Atte] & ABCDAIA H G, E, F= 7+ 8eni S ™~

o G~
7} AD, BD, BC 9] S olt}. AEGF % 7
0ABCD ¢ §o] 9] H|& Bt=A] 719t 2127 '
E 10c¥n
‘[
B —v -
~l4cm- -

® 7:42 @ 8:43 @ 8:44 @3;44 ® 8:45

B

DABFG=(7+4)X10X%:55 (cm?)

DABEG:%X x8x 10 =30 (cm?)

N | =

1 1 35
AEBF21X§X14X10:? (cm2)

AEGF = 55 — (30+ §> = ? (cm?)

2
1
DABCD = (144 8) x 10x 5 =110 (cm?)

15
—: 11
5 0

=15:220=3:44

. AEGF : DABCD




12. thg 299 AA42g ABCD ol 4 AD 2

_ A M D
2:302 Y FrE=HS M, BCE4: 12
et A4S N, MN 7 ACSH] mAde p
=1 1 '@j’ﬂ'. APNC 9] Y o]= gABCD 9] P
ERER-R R B N ¢
1 1 1
__ H __ H __ H
®310H @31111 ® o
__ H __ H
@ -l ® 5
A M D
P
B RN C
BN mzm,m:%%
4 PE AU AB o RS AAo] AD, BC S} Thit de

Q, R2tal 51H AAPM 2 ACPN
AM : CN=AP : CP
AAPQ O ACPR

PQ : PR=AP : CP

1 1 1 1
PNC = - x — x —0ABCD = —0ABCD
APNC 2><5X3D C 30|:| C

AM : ON=DQ W%:Q:l,ﬁ{:%ﬁ




13.

@ AABC = 41 cm?, AAB"C = 1cm2
2 2
1
@ AABC = % cm?, AA”BCY = ;cm2
1
ROV DR
71 7
@ AABC = — cm?, AA”B”C” = — cm?
2 2
1
®)AABC = 8l cm?, AAB"C = gch
2 2

~&B ~

AA"B"C” : AAB'C'=12:22=1:4
AAB”C” 118 =1:4

AAB”C = g (sz)

AA'B'C’ : AABC=22:32=4:9
18 : AABC=14:9

. AABC = % (cm?)




14. +==°]7F1.6m<Ql dAol7t ofH AEZHE 50m BoZ 3tof|A A
2ol D AFS &t E Zte] 37|71 30° ]t} o] 5 Hig ez
/B =30°/C=90°BC =25cm ¢ 724 ABC & 139 Y
AC = 1.5cm ©]3ltt. o] AE9] AA| zol=E m 27}?

D
A
15 g
B; o }:11 0 .
2.5cm A4 T --50m-- " F
1.6m
D 28.6m @ 30m 3®)31.6m
@ 32m ® 32.6m

- - 2.5cm 2.5cm 1
Z;(_] — — —
(52) = S0m = 5000em — 2000
-, DF = 1.5 (cm) x 2000 = 3000 (cm) = 30 (m)

b A& AR Fol= 1.6 + 30 = 31.6 (m)




15.

AA 71217F 200m 1 F A1 Aele] ARE 4em 2 YERWE A =7}
At o] Ao A AA] Wol7F 15 km? ?1 Be] HolE otofet.

@6000 cm? @ 6500 cm? ® 7000 cm?

@ 7500 cm? ® 8000 cm?

€5 :
(£3) = 4:20000 = 1 : 5000
(§ol9] 1)) = 12 : 50002 = 1 : 25000000
1 : 25000000 = x : 150000000000
x = 6000 (cmz)




